Self Check Answers

1. Find the sin, cos and tan for the acute angles. Write your answer in both fractional and decimal
form ( round the decimal form to the nearest thousandth).

a.

A
6.7 9.3
-y c
6.4
sinA:% cosA:ﬂ tanA:(L4
9.3 9.3 6.7
sin A=0.688 cosA=0.720 tan A=0.955
sinC:G;7 cosC:E tanC=ﬂ
9.3 9.3 6.4
sinC =0.720 cosC=0.688 tanC =1.0469
b.
Y
85
X 12.3
15.0
z
sz=% cosX:E tanX:%
15.0 15.0 8.5
sin X =0.820 cos X =0.567 tan X =1.447
sinZ:S;5 cosZ:ﬁ tanZ:S;5
15.0 15.0 12.3
sinZ =0.567 cosZ =0.820 tanZ =0.691



